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QUESTION 1

Which two options are true if inventory is unallocated and unavailable? (Choose two.) 

A. Inventory located in a drop zone 

B. Inventory located in active location 

C. Unlocked inventory located in reserve location 

D. Inventory in locations with lock codes 

Correct Answer: CD 

 

QUESTION 2

Your company\\'s count process has two levels: First, at the end of each quarter, the operators will need to get a list of
all the LPN numbers in every location via cycle count. Second, at the end of each month, the operators will do a spot
check for any 100 LPNs and count their content information, and to save time, they will scan each item only once and
enter the total quantity of the item marked on the inner package inside an LPN. Your company has reserve locations
only for storage and you\\'re doing the WMS Cloud configuration for the operators. 

Which two tasks should you complete? (Choose two.) 

A. Create a Cycle Cnt RF screen for the operators to use, and leave the content-count RF parameter blank. 

B. Create a Resv Nbr Cnt RF screen for the operators to use. 

C. Enable the Recount Location Detail cc_trigger. 

D. Create a Cycle Cnt RF screen for the operators to use, and set the content-count RF parameter to By Sku Qty. 

E. Create a Cycle count for LPN deferred/immediate updates RF screen for the operators to use, and set the sku-scan-
mode RF parameter to By Qty Scan. 

Correct Answer: BE 

 

 

QUESTION 3

Your customer wants to store the inventory to Active and Reserve locations after receiving. Inventory is 

received in cases pack quantity and assigned to an IBLPN. Inventory is categorized to Bin Shelves and 

Bulk flow items and the items dimensions are available in WMS Cloud. 

Which three putaway configurations are required to meet this? (Choose three.) 

A. Locations Size type and Item Putaway item should be configured prior to Putaway 
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B. Putaway rule overrides Putaway priority and selects the location based on the item dimension 

C. Putaway rule will act according to the Priority defined. 

D. This is not supported in WMS Cloud. 

E. Selection Criteria will evaluate and apply the Putaway priority. 

F. Putaway priority will drive the location selection. 

Correct Answer: AEF 

 

 

QUESTION 4

You have hired a new employee to do picking in the warehouse. The employee complains that he/she cannot work
because the RF Picking transactions is not displayed as one of the RF options. Which two scenarios will cause the
transaction to be missing as an RF option in the user\\'s menu? (Choose two.) 

A. The RF Picking transaction is not associated with her/his group\\'s assigned RF Menu. 

B. The employee\\'s Group has a blank RF Menu. 

C. The employee is assigned to the "Supervisor" group. 

D. The employee\\'s email is not set up in his/her user profile. 

E. The employee has forgotten his/her password. 

Correct Answer: AB 

 

QUESTION 5

You are using the WMS Cloud at the Stores as well as the DC. Your workflow at that Store requires that you quickly pick
orders for the customer when they arrive. Which configuration allows you to achieve this workflow requirement? 

A. Create an Order Type with the flag "Allocate during Pick" enabled so that you can pick orders at the store without
waving. 

B. Set the Order Type to "Pick Without Wave". This allows the RF options to automatically pick up those order and
display to pickers. 

C. Create a Flow Through process and configure each customer\\'s address as a "Designation Location" 

D. Change the Order Type to "Rush" and wave it because the customer is waiting. 

E. Create a wave template with Wave Template Type "Store", then wave will allocate orders in a FiFO sequence. 

Correct Answer: A 

Reference: https://docs.oracle.com/cloud/owm70/owmcs_gs-cloud/OWMRN/OWMRN.pdf 
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